

10

Proof of Prop 4.1:

Grace Willard
Assignment 1

Let $a \in \mathbb{Z}$ and $n \in \mathbb{N}$. Then \exists unique q and r s.t.
that $a = nq + r$ and $0 \leq r < n$.

Let $S = \{x \in \mathbb{Z} : n \mid x \text{ and } x \leq a\}$.

$$S \subseteq \mathbb{Z} \quad (x \in \mathbb{Z})$$

$$S \neq \emptyset \quad (-n \mid a \in S) \rightarrow \text{move}$$

S is bounded above ($x \leq a$).

Therefore, by p. 1.3.5 S has a maximum.

So, $b = \max S$ exists, with $b = ln$ and $l \in \mathbb{Z}$.

$$b = ln$$

$$b+n = ln+n$$

$$= n(l+1)$$

Note $b+n > b$, so $b+n \notin S$.

Since $n \mid (b+n)$ (by p. 1.2.3)

and $b+n \notin S$, then $b+n \neq a$,
so $b+n > a$.

Now, we have $b+n > a$ and $b \leq a$. Therefore
we have $b \leq a < b+n$ and $0 \leq a-b < n$.

Let $q = l$ and $r = a-b$.

$$nq+r = nl + (a-b) = b + (a-b) = a$$

$$\text{so } a = nq+r \text{ and } 0 \leq r < n.$$

Proof of uniqueness of q and r :

$$\text{Let } \textcircled{1} a = nq_1 + r_1,$$

$$\textcircled{2} a = nq_2 + r_2.$$

$$\textcircled{1} - \textcircled{2}: 0 = n(q_1 - q_2) + (r_1 - r_2), \text{ with } -n+1 \leq r_2 - r_1 \leq n-1$$

$$r_2 - r_1 = n(q_1 - q_2) \text{ with } -n+1 \leq r_2 - r_1 < n$$

$$\text{So } -n < n(q_1 - q_2) < n$$

$$-1 < q_1 - q_2 < 1 \rightarrow q_1 - q_2 = 0, \text{ so } q_1 = q_2.$$

Now, since $q_1 = q_2$:

$$nq_1 = nq_2$$

$$a - nq_1 = a - nq_2$$

$$r_1 = a - nq_1 = a - nq_2 = r_2$$

So $r_1 = r_2$.

